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Question Number : 1 Question Id : 3354725031 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The first State in India to pass the GST legislation in the Assembly was
F ATAT AT T Ugall T3

Options:

1. % Tarnil Madu | fIFrIFlg

2. ¥ Assarn | A

3. ® Gujarat | =T
4. % Madhya Pradesh | T 0

Question Number : 2 Question Id : 3354725032 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Where is the Institute of Wood Science and Technology located? | 18 T & WeniTeT qerm= w51 99 57

Options:
1. % Bangalore | &A%

2. % Jabalpur | S&EAYY
% % Ehopal | ST
4 % Satna | 9Jq1

Question Number : 3 Question Id : 3354725033 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which organization in India publishes Science Reporter, a popular science monthly? | W # @i @ g g&
AR ekl ATTEe, 15 NOIdt &1 Wehla #ea | 57

Options:
1. ® NREDC | T9aREE

2 ¥ NISCAIR | TATSUHE TS A (W HeR)
3. # Nehru Center | A5® &g

4. % [5WA | 34|§t3ﬂ3@n23!q

Question Number : 4 Question Id : 3354725034 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

ECMOT;:;CI: &:urlle\/\;rfotnl?e. (f)ollofmng rivers flows closest to Bhopal? | FRiaEd § & @19 | 92 I & dae o 95471 87
Options:

1. % Narmada | 98T

2 ¢ Betwa | dddr

% % Tapi [ 9mt

4 % Parbati | UTedl

Question Number : 5 Question Id : 3354725035 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Tational Sports Day’ 15 celebrated on
AT AT 21

Options:

1. % 29th August | 29 ST
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2. % 2Gth August | 25 TTET
3. % 21st August | 21 T
4. % 20th August | 30 2TET

Question Number : 6 Question Id : 3354725036 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The Governor of a state is a T T TR T, el BT 8l

Options:
1. ¥ constitutional head | Ferm-er 1gE
2 % real head | STedic® TS

3. % hereditary head | saiiss mqE
4 % parliarmentary head | G959 THE

Question Number : 7 Question Id : 3354725037 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who is the Comptroller & Auditor General (CAG) of India? | adAW # R ¥ Fo=® U AT gty (@i #1927

Options:

1. % Rajiv Mehrishi | T A5M0

2. % Shashi Kant Sharma | 978 &g i
% % Vinod Rai | Az =

4 ® Y Kaul | ST 09 A

Question Number : 8 Question Id : 3354725038 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Who was the first ODI cricket captain of India? | ¥RT & TS AST1TE T &7 FH &1 277

Options:

1. % Mansur Ali Khan Pataudi | A9 3561 & Teia]
2. % Kapil Dev | #0729

= ¥ Ajit Wadekar | ST GIEHT

4. % Eishen Singh Bedi | fefam W5 &5t

Question Number : 9 Question Id : 3354725039 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is known as ‘Smiling Buddha'? | FHTSiw segr & A9 & B S FmT g7

Options:

1. ¥ Buddha’s statue at Bodhgaya | aermem # &g &1 4id

2. ¥ Code name for India’s first successful nuclear bornb test | YRT & Tgel Thel W] o7 T 3 &7 Fig 9
2. % 4 ship inducted to Indian MNavy | WRe 1 AT # A8 T TErT

4. % Settlernents created for displaced Buddhist monks | Teaiud st gt @ oy dom sl

Question Number : 10 Question Id : 3354725040 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
How many spokes are there in the Ashoka Chakra? | 374 o H a1 F1eam g7 22

Options:
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1. ¥ 24
2 % 28
3. % 12
4. % 18

Question Number : 11 Question Id : 3354725041 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Wwhat is the name of the programme introduced in our country which aimed at providing bare mininmm

essential facilities in primary schools? | gHN SO H ST 39 FTIwRH &1 98 F47 5, Tt faa werias et §
AT STer T GIeremT Ieel BT 87

Options:

1. % Operation Elackboard | AT seddls

2. % Sarva Shiksha Abhivan | @ & s

% % Operation Chalk & Duster | ST @@ oK 5621

4. % Education for all j ot @ oy T

Question Number : 12 Question Id : 3354725042 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In which city will vou find the Victoria Memorial? | et #rtfae s g age & gy

Options:

1. % Kolkata | Sia@ET
2. % Chennai | @98

Z. % Murmbai [ 9%

4 # Indore | 32K

Question Number : 13 Question Id : 3354725043 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

According the Census 2011, which district has the highest literacy rate in Madhya Pradesh? | a§ 2011 &
SR & SAT, e[ Waar & T Tt  |nemaT &1 5 Jee 74T 27

Options:

1. ® Indore | 32K
2. % Ehopal | ST

3. ¥ Jabalpur | SEAYY
4. % Balaghat | dT&TdE

Question Number : 14 Question Id : 3354725044 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The highest peal in the Vindhya Range is the

Options:

1. # Mikai Range | THeTE Soft

2. ¥ Goodwill Peak (Sadbhawna Shikhar) | TSidd el (SETeT 19
% % Bell Peak | daf =Iter

4 % Cascade Range | FTqH2 A0
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Question Number : 15 Question Id : 3354725045 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which river forms the Purva Waterfalls in Rewa? | @19 ®f Fa TaT § qTar s &7 HHior #xd 1t 37

Options:

1. ¥ Tamas | 399
2 ® vipool | foge
% % Chachai | Z=ITE
4. % Parbati | UTddT

Question Number : 16 Question Id : 3354725046 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Wwho is India’s minister for roadways, highways and ports? | TS AT, (AT 1T @251 (¢ & ARG &1 @ a1 741

Options:

1. % Piyush Goval | =W TR

2 % Suresh Prabhu | gy

% % Radha Mohan Singh | 77 #1597
4. ¥ Nitin Gadlari | & m=w

Question Number : 17 Question Id : 3354725047 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Sonagiri is a pilgrimage centre for
Options:

1.4 Jains | 39

2 % Muslims | GaaAE!

3. ¥ Buddhists | @

4 % 5ikhs | &g

Question Number : 18 Question Id : 3354725048 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
______ 15 situated betweeen Sindh and Betwa rivers. |

Options:

1. % Raisen | TE%

2 ® vidisha | 2

= ¢ Ashoknagar | STaIETT
4. % Bhopal | 90T

Tefer oY e Afea & ety T

Question Number : 19 Question Id : 3354725049 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Where are the Udayagiri and Khandagiri caves located? | Igaimic ofT @it THn &gl e 87

Options:

1. ¥ Karnataka | ®icH
2. ¢ Odisha | IEWT

2. % Maharashtra | AgWIE
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9th Dec17 Shift 1

Question Number : 20 Question Id : 3354725050 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

MM F W GE A ___ N

Correct: 1 Wrong: 0
The first CM of Madhya Pradesh was

Options:

1. ¥ Rawishankar Shukla | T JFd
2. % Sanjay Jagdale | S TSI

3. % Anup Kumar | &0 §AR

4. % Javant Mallayya | =9d AT

Zeneral Maths and General Aptitude

Section Id :

Section Number :

Section type:

Mandatory or Optional:

Number of Questions:

Number of Questionsto be attempted:
Section Marks:

Display Number Panel:

Group All Questions:

Sub-Section Number:
Sub-Section 1d:
Question Shuffling Allowed :

335472114
2

Online
Mandatory
20

20

20

Yes

No

1
335472114
Yes

Question Number : 21 Question Id : 3354725051 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If April 1, 1998 was a Wednesday, then what day does 25th Decernber of 1998 fall? | @it 1 e, 1998 &

AR AT, T1 25 femraw 1998 @ #1997 157 usdr &7

Options:

1. ® Wednesday | gHa
2. % Thursday | T&dX
3. ¢ Friday | 9&dr

4. % saturday | giar

Question Number : 22 Question Id : 3354725052 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

The solutions for x and v in the equations 2x+3v==5 and Sx+4vy=13 are: | GHEON 2x+3y =8 W Su+4y=13 #

xSﬂT? aFE:Ff%:
Options:

1.9V x=1v=2
z % x=1 y=1
3% x=0v=2
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4. % x=2 v=0

Question Number : 23 Question Id : 3354725053 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A polygon that has 8 sides is called _______ | U g TR 2 g, FEAET &l
Options:

1. % octagon | &Y

2. * hexagon | 9249

Z. % pentagon | T

4. % decagon | 3O

Question Number : 24 Question Id : 3354725054 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Find the srmallest number by which 1575 should be rultiplied so that the product is a perfect square. | e
FICT HEAT AT & FATd 1575 w1 10 Fam S amigy a1 o=Ee TeF qof a1

Options:
1. %5
=z %3
3.7
4 % 3

Question Number : 25 Question Id : 3354725055 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If 8075 is written as the product of two 2 digit numbers, then the sum of these numbers is: | I 8075 &7 2
SR FEATET o Ok o & 8 Toie 4T 8, a7 5 |t # Jwd &

Options:

1.9 180

2 % 48

2 % B1

4 ® 444

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Question Number : 26 Question Id : 3354725056 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Abdul reads 25 pages of a book contammg 100 pages. Akbar read 2/5 of the same boolk. Which one of the
following staternents is NOT true? | Sfegel U 100 U8! aTH! [&d® & 25 U8 UGd1 51 ket + I41 eq® @1 2/ 5 wgn +g
FTATH & B AT 0F T T30 57

Options:
1. ¢ abdul read half that of Akbar | Sege = ST § ST ugT

2. % alkbar read more than Abdul | SIweR = Sege o STE® UgT

3. % akbar read ten pages less than twice that of Abdul | SFReR = Sfege # SIAT § 56 0% 4 05
4. % abdul read five pages more than half that of Akbar | alege = S/t & §Te & Uiz g Sie® ug

Question Number : 27 Question Id : 3354725057 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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What power of 2 is half of 2197/ 23T T 9T 210 T 37T &7

Options:
1.v 2

Question Number : 28 Question Id : 3354725058 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If the diagonal of a rectangle is 65 cm and one side is 63 cm long, then what is the length of other side? | I

e ST T Teleh0l 65 HHT g SR e 7 63 AT ell 3, d1 AL YT T wialls 47 57
Options:
1. % 12
o %14
3. v 15
4. % 20

Question Number : 29 Question Id : 3354725059 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Find the average. | &g e
17,21, 27, 18, 17

Options:
1. % 28
2 % 24
3% 22
4 % z0

Question Number : 30 Question Id : 3354725060 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Evaluate the given equation: / €3 IRI HHIHIOT T J—Iﬂvﬂimu-l P

625 x
125 .3
Options:
1.¥5

2 % 25
3% 1

4 % 10

Question Number : 31 Question Id : 3354725061 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0

The positive integers x, yand z satisfy x v = 14, v ¥z = 10and z x x = 25, respectively. What i5 the value
of x4+ v +27 | eACAR QMiE 2, v 8z, x Xy = 14, v X2 = 10 dWz xx = 35 B AGE T 8l ¥ + v + 2 BT HH FAT 27

Options:
1. %5
2. %7
2V 14
4 % 10

Question Number : 32 Question Id : 3354725062 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The average age of a husband and his wife was 27 years whern they were married 7 yvears ago. Now, the
average age of husband, wife and his son is 24. What is the age of the son now? | Uw Tid 7 Oe @1 T g 7
oY Ut 27 o 27 ST IR Ty G A e Ui, Uel S 3 I AT 24 oY g1 ardt gF T amg T 87

Options:
1. %7
2. %5
3. %5
4 ¥ 4

Question Number : 33 Question Id : 3354725063 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Find the missing nurnber x. | 77 %47 x Hee:
2, w5, (2, 12), (5, 24)

Options:
1. % 4
2. v g
2% 10
4 % 5

Question Number : 34 Question Id : 3354725064 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A train 30011 long passes a Pole i1 0.4 rrnutes. Howe long wall it take to cross a bridge 450 m long (n

rinutes)? | TF 300 AleT dal termar 0.4 9T # U @ &1 OR @a 1 g1 450 Hiet @t o &1 UK & & oy 98 e d,
T |HY FTT?

Options:

1. % 05min | 0.5 e
2. % 0.75min | 0.75 AT
39 1min [ 1 =2

4 % 125min | 1.25 e

Question Number : 35 Question Id : 3354725065 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Find the 15th term of the series 5, 10, 15, 20, .7 | 5, 10, 15, 20, . 40 & 1587 U2 AT &4

Options:
1. % 70
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2 ¥ 7
=% B0
4 % None of these | g8 @ &g 91

Question Number : 36 Question Id : 3354725066 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

The ratio between the present ages of Kunal and Ganesh is 2 : 5, respectively. If 4 a%’%ears hence, Kunal will be
vounger than Ganesh by 12 vears, then what is the present age of Kunal? | TIUTST 3T St AT 3173 o i i T
SUTT A 3 5 B AT S & AW a9 & ag, FA 0T E 12 a9 SIET g, a7 FATA T ad A S 4T 57

Options:

1. 18 vears | 15 a9
19 o
o0 T

16 =

2. % 19 vears
3. % 22 years

!
!
!
4 % 16 years |

Question Number : 37 Question Id : 3354725067 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The number when divided by 361 gives remainder 47, If the same number is divided by 19, then the

remainder obtained is___. | U%F GEdT @1 4 361 & ST Far a1 ¢ 97 I96d 47 WIH 51T 81 9is 6 9= @ 19§
TerTFota T AT, 7 oTg Sk ___gim

Options:
1. % 3
2. % 8
3.¢ 9
4 % 1

Question Number : 38 Question Id : 3354725068 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The ratio between the volumes of a cone and a cylinder having the same radius and height is

I IS ARt U I &% U eleTd o ST ! o o i W ST
Options:
1. % =1
2. ¥ 1.3
3% 1.z
4 % 21

{ HE T

Question Number : 39 Question Id : 3354725069 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Simplify: / EXelthiToT;

27 =
+X33X V37 x 3%

Options:
1. % 3
2 ¥ 1=z
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3. %9
4 % 1/9

Question Number : 40 Question Id : 3354725070 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which one of the following numbers is divisible by 37 | 79 # & @19 €t g 9ear 3 9 Tama 27

Options:

1. ® 28764323

2. % 9BBE003

3. # 2345678

4. % 4006020

Ceneral Hindi

Section Id : 335472115
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section 1d: 335472115
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 3354725071 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T Al N E -
Options:

1.¥

2 *F

3 % g

4 %7

Question Number : 42 Question Id : 3354725072 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
o ST T IR AT a9 g | ghar g At
Options:
1. ® T
2. ¥ ST
3. % am g
4 % aigey
9th Dec17 Shift 1
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Question Number : 43 Question Id : 3354725073 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T ¥ 7 Il T TRT e AT T @ e 8 e e
Options:

1. % o

2. ¥ ORI

3. % T

4. #® qE

Question Number : 44 Question Id : 3354725074 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Options:

1. ® gaTar

= ® saav

4 ¥ 4=

Question Number : 45 Question Id : 3354725075 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

AT . Trat AT 51 5F aT9d § FT0 U T aee Hi
Options:

1.¥

o g

3 % ot

4 % 71

Question Number : 46 Question Id : 3354725076 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
AT FT I H & BT A e

Options:

1 % ugd
o ¥ T

3. aTEm
4. ® g

Question Number : 47 Question Id : 3354725077 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T =T AT B 3 TR U e R # E A ar i
Options:

L ® aggT

2. % g

3. V' gy
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4, ® T

Question Number : 48 Question Id : 3354725078 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
FITTRT AT g o ol UeF g g # i A e

Options:

1. % o
2. ¥ UegnTT
3. % AT
4. ® T

Question Number : 49 Question Id : 3354725079 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A w e R fm i dam A
Options:

1. ¥ TR+

2 ® Ta+ard

3 T+

4, % Tar 4+

Question Number : 50 Question Id : 3354725080 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Ty W T eg g @ W AT E?

Options:
1. % Tg7
2 % Tye
3. % o
4 ¥ qym

Question Number : 51 Question Id : 3354725081 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
& e A e e MR A R R

Options:
1. % rfesarett

2. ¥ g
3. % kg
4%-$Q]-ﬁnr;qc:u-f

Question Number : 52 Question Id : 3354725082 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

AT Teg B E H & I A7 96 27

Options:
1. ¥ gz g
2 % fmrEnE
9th Decl7 Shift 1
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3. % FHuwg g
4 % ag:fﬁ%wm

Question Number : 53 Question Id : 3354725083 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TR AT pa e el fe A aamarg?

Options:

1. % @I

2. % i gar

3. % @gq e

4 ITiE | ST T

Question Number : 54 Question Id : 3354725084 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
AT T g w0 g H E aarg?

Options:

1. % 9
= ¥ I
3. % qEd
4. % e

Question Number : 55 Question Id : 3354725085 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

RLCERRLINEA A CATIE RS ]

T Uil # g A g @t e 27
Options:

1. % g

2 % g

z ¥ F T

4. % ik

Question Number : 56 Question Id : 3354725086 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

"Higd e T 02, S0 | a0
HTg et W0 e U, Ty weat wer

H I 67 AWK 51 TRl ey giv?
Options:

1. % ¥y aAaw

o, % JUHT STAER

3. % wF AT

4. & JNT AR
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Question Number : 57 Question Id : 3354725087 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘A IUATT T AT W -
Options:

1. % gega

o % T

3 % ST

4. ¥ I - HEr

Question Number : 58 Question Id : 3354725088 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
e ot Tt ot § i 9T e g -

STATE T5T AT AW - &%, A T § T AgTeTT

Options:

1. % JUAT STFET

o % arfdeie eeeT
3. ® IOy STEET

4, & TF AAF

Question Number : 59 Question Id : 3354725089 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
T AT o A R E -

Options:

1. % e

2. T
3. % arEe

4 R ST T

Question Number : 60 Question Id : 3354725090 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘ST TEAT T U ST ad sy

Options:

1. ¥ arey

2. % Ay

3. # amE

4. ® e

Fural Economy and Panchavati Eaj

Section Id : 335472116
Section Number : 4
Section type: Online
Mandatory or Optional: Mandatory
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Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 335472116
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 3354725091 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
"Hamara Gaon Hamara FEaj” 15 a publication on

Options:

1. ¢ Tribal self rule law in Madhya Pradesh | T s § T 4 Haw ™
2 % Rural developrment in Madhya Pradesh | e[ wdsr # TTH fHem

3. % Gram Swaraj in Madhya Pradesh | He wga § T ga0r

4 % pgriculture in Madhya Pradesh | me ndsr § gy

.| BHRT G FHRT I AT AT € Heied w2

Question Number : 62 Question Id : 3354725092 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Who convenes the meetings of Gram Sabha? | UTH @67 & da®! & G & BT 57
Options:

1. ® Sarpanch | T

2. % Secretary of the Gram Sabha | TTH AT &7 e
Z. ¥ Secretary of the Village Fanchayat | TTH W=TAT &7 Al
4, % Deputy Sarpanch | 37 T80

Question Number : 63 Question Id : 3354725093 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Wwhich among the following districts of Madhya Pradesh is the largest producer of chillies? | 73 n8e &
T Bmt § & o4 el %1 999 927 Jo0ed 27

Options:

1. % Ehopal | |

2 % Gualior | TaETweE
= ¢ Khargone | @0
4. % vidisha | &

Question Number : 64 Question Id : 3354725094 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Madhva Fradesh Rural Livelihoods Project (MPELP) encourages — [ A T8 TTHIT ST TR ==T (THU TR )

Options:
1. ¥ Medium Enterprises | TeEF J2mT &1
2. % Eig Industries | @2 J=IT #1
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% % agroIndustries | FE-FE0T
4+ Self Employment & Micro Enterprises | ¥ TR Od 957 20

Question Number : 65 Question Id : 3354725095 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which among the following states is the largest producer of onion in the country as in 20167 | 2o # FEiafET
A A BT AT 2016 H I &1 Hadl 92T Jcie® 57

Options:

1. % Madhya Pradesh | e 0
2. % Gujarat | e

3. % andhra Pradesh | TS g9
4. ¥ Maharashtra | AERMEE

Question Number : 66 Question Id : 3354725096 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What 15 the targeted nurnber of houses in rural areas under Pradhan Mantri Awas Yo jana—Grarrin for the 2

ear period from 2016-17 t0 2018-197 | 2016-17 #2015-19 7% 3 ¥ & @7 & 50 TeI=H=T STame Tr==T-TTHTT
TEd THT &=t § T # ATST awE w57

Options:

1. % 4 Crore | 4 F7IE
2. % 2 Crore | 3T
3. % 2 Crore | 2 9

4 1 Crore | 1 WIE

Question Number : 67 Question Id : 3354725097 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Pradhan Mantri Krishi Sinchai Yojana PMSKY) is being implemented for the period - | 9 S1aTer & o wam @41

it Fefame T (Frmradang) wraiiaT & ST @ E-

Options:
1. % 2013-14t0 2017- 18 [ 2013-14 9§ 2017- 18

2 % 2014-15t0 2018 -19 | 2014-15 2018 -19
3. ¥ 2015-161t0 2019- 20 | 2015-16 §2019- 20
4. % 2016-17to 2020- 21 | 2016-17 & 2020- 21

Question Number : 68 Question Id : 3354725098 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following crops registered more roduction in India in 2015-16 as compared to that of 2014-

157 | ARaT H 2014-15 & a1 # ﬁwzow 16 # arféer Ieare o= @i s o7
Options:
1. % Coarse Cereals | HIET &4

= ® pulses | 2T

3. ® Oilseeds | [Fdg
4 ¥ MNone of these | 598 T &1¢ 95

Question Number : 69 Question Id : 3354725099 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0
Wwhich of the following was established for implementation and administration of crop insurance schemes and

cormmenced business in 20037 | 2002 § BT 0T TR & Fai-aa- 21T mamad & W0 Feietes o o o e
T B TR I T

Options:

1. ® MNational Agricultural Insurance Scherne | S UHFeee ST w0 T

2 #® General Insurance Corporation of India Limited | S ST R0 #TF $izm @ies
% % MNational Agricultural Market Yojana | S99d W@z ATde JRAT

4 ¥ apgricultural Insurance Cormpany of India Limited | Uieoe SOE H0-1 $iTH SiEar Wies

Question Number : 70 Question Id : 3354725100 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

&5 per the Agriculture Census 2010-11, undertaken by the Ministry of Agriculture & Farmers Welfare,
Government of India, the net irrigated area was _________ million hectares. | F 3T T FedmT #3179, 9RT

TF T T T FiY SH0ET 2010-11 % SgaR, THae = 8= ______ oo geeay am
Options:

1. % 5527

= ¥ 5457

3 % grez

4. % 7126

Question Number : 71 Question Id : 3354725101 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The Madhva Pradesh Pashu Mivantran) Adhinivam was enacted in

| A WA uy R arreie
o arterfeatee rar mar em

Options:
1.9 1976

2. % 1971
3. % 1985
4. % 1958

Question Number : 72 Question Id : 3354725102 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
when did Integrated Child Development Scherme start? | THiwd el [ AT el Ted 55 2017

Options:

1. % 2 Cctober 1970 | 2 &&= 1970
2. % 2 October 1972 | 2 &igae 1972
3. % 2 October 1907 | 2 &t 1907
4 % 2 October 1975 | 2 &dgde 1975

Question Number : 73 Question Id : 3354725103 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What basic need does IAY fulfill? | sMEUaTs e Gordd JTaIa®mdT &1 ol &edl a7
Options:

1. % Water | 94

2. % Housing | g
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3. #® Clothing | =&7
4. % Food | 9m=1

Question Number : 74 Question Id : 3354725104 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following districts does NOT have a Fertilizer Testing Laboratory in Madhya Pradesh? | e e H
TrgforiaT & & fop oot  Felter OraT HaimianaT 751 27

Options:

1. ¥ Jabalpur | S&Eayt
2. % Ehopal | ST
2 ¢ EBhind | iz

4, % Indore | E2I0

Question Number : 75 Question Id : 3354725105 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Madhva Pradesh Eural Livelihood Frograrmome is implarmented with an intensive approach in which of the

follc:g;nng clistricts ? | Hed Wor TTHIT ST el BT 1 Fgie g fet & & e U g ge® i & 91 wrailad ol
T

Options:
1. % Guralior | TaTwET
2. % vidisha | g

3. % Jabalpur | SEegY
4. % Barwani | 9=dmT

Question Number : 76 Question Id : 3354725106 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the best quality wheat of Madhya Pradesh knowrl as? | H2 WSS BT Held SFFT U ST 115 Bl &7 37

Options:

1. % Bread wheat | 92 312
2 % Annapocrna | Sl
2 ¢ Sharbati | SREdT

4. % Durum | S

Question Number : 77 Question Id : 3354725107 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In which of the following states is a National Kamdhenu Animal Ereeding Centre being established? | FgieiET
o # T T o XTI e ] U g, S ETOAT AT Tg 1 5

Options:
1. ¥ Karnataka | ®icH

2. % West Bengal | T =TT
2. ¢ Madhya Pradesh | Wy na

4. % Gujarat | =T

Question Number : 78 Question Id : 3354725108 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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MNational Panchayati Faj Day is observed on ______ | TP TRt e e T AT AT 2]
Options:

1. Z24th April | 24 =&

2. % 2nd June | 2 97

3. % 20th Septemnber | 20 Rdew

4 #® 19th Decerber | 19 fggat

Question Number : 79 Question Id : 3354725109 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Shyama Prasad Mukherji Rurban Mission was launched in ______ | THT WS {E e T T aE
ERIREIE

Options:

1. % 2017
= ¥ 2018
3. % 2015
4 % 2014

Question Number : 80 Question Id : 3354725110 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which one of the following is one of the insurance companies issuing policies under Fradhan Mantri Fasal

Birna Yojana 7 | AT o & @19 91 sf0r et wer et wae o 0T O o SaTid aiieet A e ar
Options:

1. ¥ Life Insurance Corporation of India | AR Sia ST A
2. % EBajaj Allianz | == aTlerg=
% ¥ I[FFCO-TOKIO | shai- it
4 % Royal Sundararm | ¥ Gaid

Cornputer Knowledge

Section Id : 335472117

Section Number : 5

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number : 1
Sub-Section Id: 335472117
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 3354725111 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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What is Facebook? | Hag® FaT 57

Options:

1. ¥ Social networking website | FIA HedionT dadEe
2 % Any book | ®1s JHAF

3. % Face with a book | U% [&da 9T&T I8

4 % Internet | ToeAT

Question Number : 82 Question Id : 3354725112 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What are web browser cookies? | o JT3AC Fb i 797 57

Options:
1. # Itisa virus that is downloaded from the internet | 75 Set-e & STIAAIE 5T =T UF JTET &1

2 ¥ Itis a srrall file that contains user browsing data | % UF FICT BIed & M T FT2 R 21T 3
2. ® Itis an application needed for playing audio or video files | TF e 7§30 BI5H @1 T TT6 T T TOATRI 5]
4. % It verifies files that are downloaded for viruses | I 9T & 6T STIAAS F2 BIEa! Bl IIF FAT 5l

Question Number : 83 Question Id : 3354725113 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Yideo files are available in formats. | Sz wEs

Options:
1.9 Ay

= ® PG
S ® PG
4 ® PDF

Question Number : 84 Question Id : 3354725114 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In M5 Excel, press ______ key to select all rows and columns in the worksheet. | THUE UFas H, Tl § @47 T 3K
TFIAH T el T o o] AT ZaT]

Options:

1.9 Cirl + &
2 % Cirl + B
3 % Cirl+C

4 ¥ Sl +D

Question Number : 85 Question Id : 3354725115 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

ASSIgNING narmes to text or to positions i an MS Word docurnent iscalled ___________ ] T TR EI@ST'!{-'%;I"; pi )
THHT AT T A e __ FEAT 2l
Options:

1. % Word Count | 92 #13¢

2 Bookmark | gwATH

3. % Named word | ATHEF Teg

4 ® Cross-reference | ®-THH
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Question Number : 86 Question Id : 3354725116 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What kind of Mails are found in the below imagein Outlook? / 33¢eler # =< & 715

AT & 79 YR & A 97 AT 87
=

Options:
1. % Mails which corne frorm others | 2= @M & 21 aTe #e
2. ¥ Mails which are sent by you | S0 ZRT 9 T A

3. % Mails which are sent by others | S @ GRT 9 M7 He
4. % Mo Mails | FIE T T51

Question Number : 87 Question Id : 3354725117 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What does ‘corn’ stand for in website addresses https: | [www. google com|? | de@Ee T2d https: | [ www. google.
corn| ® w1 #7 a5t o oo gET R

Options:

1. ¥ Cormrmunication | HoT (FHI-E)
2. ¥ Commercial | a4 (@A)
3. % Component | gew (FEH

4 % Cornrmunity | S (FEILN

Question Number : 88 Question Id : 3354725118 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
which of the following is a part of the Central Processing Unit? | 7 § & F2T Hgal TR T 7 977 27

Options:

1. ¥ Arithrmetic & Logic unit | erRfife® 0d AT® gi-e
= % Sranner | T

% % Keyboard | #1-a12

4 % Mouse | ATIT

Question Number : 89 Question Id : 3354725119 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In M5 Word 2007, which icon is used to copy formats of characters? | TATE @2 2007 ¥, 3Fed & BIHC HIUT &t
o TonT Toper amTgarT=T o o e a5

Options:

1. % Format Painter | ®THz Uzt

2. % Format button | BIAS @2

2. ® Painter | Ha¥

4 % Character Painter | #iget det

Question Number : 90 Question Id : 3354725120 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0
which icon is used for “Redo” in M5 Word? | UAUE 72 # “Redo” & A0 o mgaT= @7 S & =T &7

Options:

1. 9
K7
o #

Question Number : 91 Question Id : 3354725121 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Press _______ key to open the help window in M5 Word 2007 document. | THIE g2 2007 STagHe # gad st
Gl oy ______ Gt g AT T ]
Options:
1. ¥ F1
> ® FZ
3. % F9

4 % F11

Question Number : 92 Question Id : 3354725122 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Find the odd one out. | fEuq J7 #=T

Options:

1. % Jawva | =ATar
2 % C

3% T+

4 ¢ Linux | A4

Question Number : 93 Question Id : 3354725123 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

In M5 Word 2007, the space left between the margin and the start of a paragraph is called_______ | O 2
2007 H, AR T ST & S & Wele gel porl sfaee ________ FEAET 2l
Options:

1. % spacing | quiEmT
2 ¥ indentation | IS5
3. % gutter | M
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4, % glignment | TATEAHT

Question Number : 94 Question Id : 3354725124 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What type of device is a computer mouse? | FHREL ATIT [ TFR % 37 (Eaea) 27

Options:
1. ® Storage | gERA

2. % Output | 3G
3 ¥ Input | 30T
4 # Software | 9ecaw

Question Number : 95 Question Id : 3354725125 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Alan __________ is composed of several computers connected together to share resources and data. | 0@

_______ HETET 87 ST T WIS FE F To0] e e & F3T 5ol 3l
Options:

1. ® internet | g2t

= ¥ networl | dTad

= % packbone | s

4, % hyperlink | FEWRHT

Question Number : 96 Question Id : 3354725126 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A computer isafan_______ ) IR UE 2l
Options:

1. ¥ mechanical device | B¥-@d 1EZaEd

2. ¥ electronic device | SHlFe-T-® ISd5d

= % glectrical device | THlge®d ISdEd
4 % networking tool | SEafdT Im

Question Number : 97 Question Id : 3354725127 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following is NOT the correct method of editing the cell content in M3 Excel? | THUH Ugde H, 9
oo W UTEe T F1 A § & T o7 ger T Agl 27

Options:

1. ¢ Press the Alt Key | Alt g1 gaT

2. % Press the F2 Key | F2 il a1

3. % Double click the cell | & # Zad e AT

4 % press the Ctrl Key | Ctrl g9iT gaT
Note: For thisquestion, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Question Number : 98 Question Id : 3354725128 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Ir1 M5 Excel, the intersection of a row and a column is called a__________ | OATE UFEA o T T AW UE Fed o
TidzaaT @ FET 1T &1
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Options:
1. ® square | 1
= ® row | T
2 ¥ cell | BJF
4. % worksheet | g

Question Number : 99 Question Id : 3354725129 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Wwhat is the full form of GE? | GE T Hegd &9 47T 87

Options:

1. ® Generabyte | J=TaES
2. ¥ Gigabyte | TiTmaE:

= % Gaintbyte | fiqamEe

4. % Genbyte | SHdET

Question Number : 100 Question Id : 3354725130 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In M5 Excel EDID?, long text can be broken dowrl into many ines within a cell through ______ 2 m@w
2007 ® 96 § Fal CFee ® 1 aw olg-1 H TR T ST ST g1 s e o & T | & T gl
Options:

1. ¢ Click Wrap Text in Hormne tab | g0 2o § 10 Sfes U ool @i

2. % Click Arrange all in View tab | 73 2 H e’ afld 0¥ oerr ol

3. ® Click Align in Page Layout tab | U #8137 3 § TATE- U Teoed @i
4. % None of the above | 30w # & FE 51
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